= A
N = 0] &F AF S & AN A
20158 &= 20l AH LEHSH S X &2t
SA: 2X™ 2
E: =SUMH 25
Sl XISAS =X CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
SXH 10,769,836 9,846,177 923,659
= 2,116,590
J| 36,333
Al H] 7,310,629
I 1,306,284
Sy 23 4,526,313 3,933,525 592,788
= 698,472
Al H] 3,583,848
T 243,993
NEAE SAEHE 3,538,161 2,928,048 610,113
Al H] 3,414,008
T 124,153
MNEEXNS 89 2,842,200 2,229,303 612,897
Al HI 2,831,600
Tl 10,600
307 2Iz2t0| A 2,842,200 2,229,303 612,897
Al HI 2,831,600
Tl 10,600
05 QIZ2tREF 2 2,842,200 2,229,303 612,897
OME=2XS 24 K& 2,831,600,000& 2,831,600
Al H] 2,831,600
OFEssAa M)lg X 3,600,000 3,600
OEFAMUOIIIE REs=2AMY N
7,000,000 7,000
AMSIEXNHSZEL2 AR2EX ASI=EL22A HIX 26,928 26,928 0
Al HI 13,464
-] 13,464
301 et A= 26,928 26,928 0
Al HI 13,464
24| 13,464
0B MBI ERRIBAZ 26,928 26,928 0
OMI2XNEHEZRJ gR2EX 26,928,000 26,928
Al HI 13,464
24l 13,464
S8 d2AJ 41,268 60, 164 N 18,896
201 Bt 17,000 15,580 1,420
01 AFR2 22| H| 16,460 15,160 1,300
OX<Ats X AHE M2 8,000 x70H 560
OAMGt2=EX&EM EstSAH S HE
20,000 *300H 600
OX&E=X 2 - 288 2483 24
2,000,000 2,000
OslUY=Rk 83 10,000,000& 10,000
OEANIRSER(ER) 3,300, 000& 3,300
02 B32%H| 540 420 120
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2N

M3 =NEY 25
Sl XISAS =X CERED
5 - 4
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OMHPSSA SSEEBANAE EHHUY) 2
A 45,000& ~12& 540
203 € R =& 21,100 21,100 0
03 AIEH =X H 2 F X Y| 21,100 21,100 0
OEXed= 42X 3,200,000 3,200
OBZHHS A2 g8 15,800,000& 15,800
OAZ 22X 4R 1,300,000 1,300
Qe AEAHI A ZHX 2HE S 800,000 800
301 Lt A= 3,168 3,484 A 316
08B MBI ER2IEBAZ 3,168 3,484 AN 316
OAMS=2X 9LEX 3,168
=4 6,000 x2H x22 x12& 3,168
ARAUOIIHE X 10,000 9,000 1,000
201 et 9| 10,000 9,000 1,000
02 332%H| 10,000 9,000 1,000
OY9RAOIIIEW Bots EI|2
10,000, 000& 10,000
ASIZEXAIE Al 2L X 36,288 22,176 14,112
Al Hl 18,144
24| 18,144
301 et A= 36,288 22,176 14,112
Al Hl 18,144
24| 18,144
0B AISIE22IIZ A= 36,288 22,176 14,112
OMIEXAIE A ERRI =4l
36,288,000 36,288
Al HI 18,144
-yl 18,144
BE232 29 10,677 9,677 1,000
201 et 10,677 9,677 1,000
02 B32%H| 10,677 9,677 1,000
OBZ3& 2832 8,000,000& 8,000
OB&3 & FANE42e
3,362& *1,592.5m «50% 2,677
K2R XA 570,800 570,800 0
Al Hl 550,800
=] 20,000
301 et A= 570,800 570,800 0
Al HI 550,800
24| 20,000
01 Al E& A 53 570,800 570,800 0
OFFKRZEA Y= 550,800,000 550,800
Al HI 550,800
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2N

M ;mgf; 2t 5
CH9l: KIGAIE =X (9 &)
SA - BB B () - MM - BES Ol &t o San HmEET
| | ORFMSTI AL22 200,0002 *100 % 20,000
XA UsZEX 988, 152 1,005,477 A17,325
= 698,472
AlH] 169,840
2l 119,840
JEZCYW 29 6,000 4,000 2,000
AlH] 3,000
24l 3,000
307 2I2+0| & 6,000 4,000 2,000
AlH] 3,000
24l 3,000
11 AFBI 2 XA 2 X 6,000 4,000 2,000
OJlzZcw] 29 6,000,0002 6,000
AlH] 3,000
2l 3,000
202 2N 774,652 800,000 A25,348
2 619,722
AlH] 77,465
2l 77,465
301 YetE A2 774,652 800,000 A25,348
2 619,722
Al 77,465
2l 77,465
01 NS ERE 252 774,652 800,000 A25,348
022 EXXNY A 774,652,0002 774,652
= 619,722
AlH] 77,465
24l 77,465
IEZCOA 29 50,000 50,000 0
AlH] 50,000
307 QI2t0| & 50,000 50,000 0
AlH] 50,000
05 0I2te &t 2 50,000 50,000 0
OJEECOI 29 50,000, 0002 50,000
Al 50,000
NEESXSSMEA 222 X 142,500 138,377 4,123
= 71,250
Al 35,625
2l 35,625
101 Q124 H 142,500 138,377 4,123
= 71,250
AlH] 35,625
= 35,625
04 JI2H22NSE~ 142,500 138,377 4,123
OANBIZXNESMHA M2 142,500,000 142,500
= 71,250
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SN =SXHHD

E: =2XFY 25

Sl XA LisET (S &2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2

Al HI 35,625
24| 35,625

Atell 22l ALY 29Hl A 15,000 13,100 1,900
= 7,500
Al HI 3,750
24l 3,750

201 LBt 9H]| 7,000 6,000 1,000
= 3,500
Al HI 1,750
I 1,750

01 AP 22| H| 7,000 6,000 1,000
OAtdl 22l AlgY 29Hl XI& 7,000,000& 7,000
= 3,500
Al HI 1,750
Tyl 1,750

301 et A= 8,000 7,100 900
= 4,000
Al Hl 2,000
=yl 2,000

01 Al E& A 2523 8,000 7,100 900
OAHHl 22l AF Y 8,000,000 8,000
= 4,000
Al HI 2,000
24 2,000

OlS £ Xl &k 5,273,221 5,207,625 65,596
= 1,298,468
Al HI 3,600,399
I 374,354

OlsEs 5,273,221 5,207,625 65,596
= 1,298,468
Al HI 3,600,399
T 374,354

IJIERE , AE8AH AIE0S HESE2 XA 22,744 22,744 0
Al HI 22,744

301 Bt A= 22,744 22,744 0
Al HI 22,744

01 Al E & A 462 22,744 22,744 0

OJIE/E, AEAH, NEOIS Usts=22 X

2 22,744,000 22,744
Al HI 22,744

Hel . st Ols AXH 1,473,418 1,473,418 0
Al HI 1,105,064
Tyl 368,354

301 et A= 1,473,418 1,473,418 0
Al HI 1,105,064
Tyl 368,354
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SM: =2XNEHY
=RV (-

& otsES (&)
SA - BB B () - MM - BES Ol &t o San HmEET
01 MEIBEE 263 1,473,418 1,473,418 0
OBY  YEE 0S3A X
1,473,418,000& 1,473,418
AlHI 1,105,064
i 368,354
E- 35 ts=4X& 319,848 319,848 0
AlHI 319,848
301 L2 A= 319,848 319,848 0
AlHI 319,848
01 MEIBEZE 06z 319,848 319,848 0
OE - -Z25¢Y otss4 XA 319,848,000 319,848
Al 319,848
EYAEENH 2Y 300,000 300,000 0
= 300,000
101 @124l 122,000 122,000 0
= 122,000
04 JI2ZtHZ22HEE = 122,000 122,000 0
Oolzt=8ioled olAh| 122,000, 000& 122,000
= 122,000
201 L2l 129,400 157,200 A 27,800
= 129,400
01 At 22l 117,400 151,900 A 34,500
OEEAERE Z208 & 2F 117,400,000 117,400
= 117,400
02 2324l 12,000 5,300 6,700
Os&22= 12,000, 000& 12,000
= 12,000
202 Odl 14,000 14,800 A 800
= 14,000
01 =LHOIHI 14,000 14,800 A 800
OEYAERE Y &% 14,000, 000& 14,000
= 14,000
203 R =&l 2,000 1,000 1,000
= 2,000
03 A Z=XH S =AY 2,000 1,000 1,000
OEHARE HRFA 2,000,000& 2,000
= 2,000
301 L2 Az 7,000 5,000 2,000
= 7,000
09 AL HIE &S 5,000 3,000 2,000
ONESALA & SJAX A AlHI 24
5,000,000 5,000
= 5,000
1M1IIEESS 2,000 2,000 0
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SM: =2XNEHY
=RV (-

cGe: otEe s (&2 d &)
SH-HH . B(SH) - HBAMY - B2 ofl &k o San HDE2
O T A SEIH7 B4 2,000,000& 2,000
= 2,000
307 212t0| & 20,000 0 20,000
= 20,000
11T AISISXAIE E X 20,000 0 20,000
Ozx8)2d 21 229 & 20,000,000 20,000
= 20,000
405 Ko SHI 5,600 0 5,600
= 5,600
01 JHAtY = ZF SHI 5,600 0 5,600
OEEAEIE HIE 5,600,000 5,600
= 5,600
AEAE 2 JIERE Ols ¢85 A& 142,560 142,560 0
Al Hl 142,560
301 dEtE A= 142,560 142,560 0
Al HI 142,560
01 M3 EXEE G2 142,560 142,560 0
OaEAHIIIE € JIERIE0s = A&
142 ,560,000& 142,560
Al Hl 142,560
AEAEHIE € JIE/AE0S ANE XA 27,000 27,000 0
Al H] 27,000
301 et A= 27,000 27,000 0
Al HI 27,000
01 MIIEEE G2 27,000 27,000 0
O42d@AHINE & IIEREOS KA
27,000,000 27,000
Al H] 27,000
A0S A8=H X3 44,483 44,483 0
Al HI 44,483
301 LBt A= 44,483 44,483 0
Al H] 44,483
01 MBI EBEEAELG2 44,483 44,483 0
OANMEOtsS HE=sH X 44,483,000 44,483
Al HI 44,483
otsee XA X3 79,474 79,474 0
= 55,632
Al Hl 23,842
301 dEtE A= 79,474 79,474 0
= 55,632
Al Hl 23,842
01 AL B & A %352 79,474 79,474 0
Ooots<gY XN3AM X 79,474,000& 79,474
= 55,632
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SM: =2XNEHY
=RV (-

OIs23 (el &™)
SA - FE - BI(EA) - NRAY - By 0l &t San DS

| Al 23,842

OrS S X WAHALEI A Xl X&) 220,460 215,040 5,420
= 110,230
Al 110,230

101 1Al 220,460 215,040 5,420
= 110,230
Al 110,230

04 JI2ZtHZ22 a2+ 220,460 215,040 5,420
OO0ts=S XA 2124 220,460,000& 220,460
= 110,230
AlHI 110,230

OtELEAE 130 49,665 51,887 AN2,222
= 44,698
Al 4,967

301 et a =z 49,665 51,887 AN2,222
= 44,698
AlH 4,967

01 MEIBEE 263 49,665 51,887 AN2,222
O0tsL=EAE 49,665,000 49,665
= 44,698
AlHl 4,967

OsZ=AE dAH=SA 202,333 193,333 9,000
= 182,100
Al 20,233

301 et d = 202,333 193,333 9,000
= 182,100
AlHI 20,233

01 MI2EZE 06z 202,333 193,333 9,000
OOtsLFAIE M 202,333,000 202,333
= 182,100
Al 20,233

OtsLd=AE 24 1,075,929 1,075,929 0
AlH 1,075,929

307 ©12+0I & 1,075,929 1,075,929 0
Al 1,075,929

10 MBI SXAEESH 1,075,929 1,075,929 0
O0tsL=AE 2 1,075,929,000& 1,075,929
AlHI 1,075,929

2ES0ts 188 24 86,286 86,286 0
= 34,515
Al 51,771

307 QI2+0I & 86,286 86,286 0
= 34,515
Al 51,771

10 M3 SXAEEEH 86,286 86,286 0
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2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZsdztd(188)2 & =34l
86,286,000 86,286
= 34,515
AlHI 51,771
22, NHEAE Ot delxz K& 4,200 4,200 0
= 2,940
AlHI 1,260
301 et d = 4,200 4,200 0
2 2,940
AlHI 1,260
01 MEIBEZE 06z 4,200 4,200 0
Ogg - IS OIS M2IXIR XY
4,200,000 4,200
= 2,940
AlHI 1,260
AA0ts = XA 132,791 132,791 0
= 92,954
AlHI 39,837
301 et d s 132,791 132,791 0
= 92,954
AlHI 39,837
01 MEI2EZE+06l= 132,791 132,791 0
oggots 24 X 132,791,000 132,791
= 92,954
Al 39,837
gotgeols ds+4 N 15,600 15,600 0
Al 15,600
301 et a = 15,600 15,600 0
AlH 15,600
01 MEIBEE 263 15,600 15,600 0
Ogotots === 15,600, 000& 15,600
AlHI 15,600
Z0iots L4 N 28,636 28,636 0
= 20,045
Al 8,591
301 LAz 28,636 28,636 0
= 20,045
Al 8,591
01 MI2ZE+06l= 28,636 28,636 0
OXols geeds XA 28,636,000& 28,636
= 20,045
AlH 8,591
ANotsdH 22 X& 867,412 846, 140 21,272
= 433,706
AlHI 433,706
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SM: =2XNEHY
=RV (-

cGe: otEe s (&2 d &)
SH-HH . B(SH) - HBAMY - B2 ofl &k o San HDE2
307 QI2t0| ™ 867,412 846, 140 21,272
= 433,706
Al HI 433,706
10 Al SEXAIEEE2IHIBX 867,412 846, 140 21,272
OXNdotsHdH 29 K& 867,412,000 867,412
= 433,706
AlH] 433,706
XNEOotsSHE SAHA HRME K& 44,080 44,080 0
Al HI 44,080
307 212t0| & 44,080 44,080 0
Al Hl 44,080
10 AIRIEXAIEEHAE2IGHIEX 44,080 44,080 0
OXYOtSHEHESAIAN HdRMA X
44,080,000 44,080
Al H] 44,080
OF2t ME XI&Eots4dE K& 4,200 4,200 0
Al Hl 4,200
307 212t0| & 4,200 4,200 0
Al H] 4,200
10 AIRISEXAIEEE2IHIEX 4,200 4,200 0
OOfAd SR AOtsHEH K& 4,200,000& 4,200
Al H] 4,200
NEotsHE IPTV 382Y 29 X3 17,940 17,940 0
AlH] 17,940
307 212t0| & 17,940 17,940 0
AlH] 17,940
10 M SXNANEEHESIHEX 17,940 17,940 0
OXNHotsHEH IPTV 282Y% 2L X3
17,940,000& 17,940
Al H] 17,940
gttE s MHlA 43,296 40,218 3,078
= 21,648
Al HI 21,648
307 212t0| & 43,296 40,218 3,078
= 21,648
Al HI 21,648
10 AIRISEXAIEEHE2IGHIEX 43,296 40,218 3,078
Oetlts SEMHIA(ER2Y9H])
43,296, 000& 43,296
= 21,648
AlH] 21,648
gttE SE2AMHIA(AIBIAIE) 16,048 0 16,048
Al HI 16,048
307 212t0| & 16,048 0 16,048
Al H] 16,048
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SM: =2XNEHY
=RV (-

e OISES (&2 &H)
SA - BB B () - MM - BES Ol &t o San HmEET
10 ALSISXAIEEE2EHEX 16,048 0 16,048
Ozctel stsx=2 8,500,000 8,500
Al 8,500
Od - HEHY| 3,298,000& 3,298
AlHI 3,298
O AFXI & HI 1,700,000 1,700
Al 1,700
OWH & XI& 2,550,000 2,550
AlHI 2,550
A0ts ANEHEBES 40,000 27,000
AlHI 40,000
301 L2 A= 40,000 27,000
AlHI 40,000
01 MEI2EZE 406z 40,000 27,000
OAE EA0tES A
40,000, 000& 40,000
AlHI 40,000
ts=XAAE 29 3,000 3,000
201 £Br2%H| 3,000 3,000
01 At 22l 3,000 3,000
O0eolg J1g&dA =
3,000,000& 3,000
HE0l=0leH & OtsSAIE 22l 3,000 3,000
401 AIEHIZ 28I 3,000 3,000
01 A& tl 3,000 3,000
O0elol=0ed & OtsAl4 3,000, 000& 3,000
Ots E2sdEIHE AA 4,818 4,818
AlHI 4,818
307 glz2tol & 4,818 4,818
AlHI 4,818
11T M ZXALSE EX 4,818 4,818
Olls Ssd&IHd 4,818,000 4,818
Al HI 4,818
d=ot=s X2 4,000 4,000
AlHI 4,000
301 L2 A S 4,000 4,000
AlHI 4,000
01 MEIBEE 53 4,000 4,000
OYge=d= 4,000,000 4,000
AlH 4,000
I 2 25 946,142 680,867
= 119,650
J| 36,333
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SA SNEMY
MY HAUNY U 25

=

ol H3ad SXNSA (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2

AlHl 126,382
2 HI 663,777

dAad =XNEX 946,142 680,867 265,275
= 119,650
| 36,333
AlHI 126,382
- Hl 663,777

AU SE0Y 29 31,750 31,750 0
| 12,700
AlHI 9,525
T Hl 9,525

201 L2l 2,000 2,000 0
| 800
AlHI 600
-l 600

01 At 22l 2,000 2,000 0
OFad 20" 2¢ 2,000,000 2,000
J| 800
AlHI 600
-4l 600

307 Qiz2tol & 29,750 29,750 0
| 11,900
Al 8,925
Tl 8,925

11 AMISIAIEE S 29,750 29,750 0
O&a2d o2ty 2g9XA 29,750,000& 29,750
| 11,900
AlHI 8,925
-l 8,925

dAHE I2Y 24 14,000 14,000 0
AlHI 7,000
Tl 7,000

307 izl & 14,000 14,000 0
AlHI 7,000
T Hl 7,000

11T AISISAASEE = 14,000 14,000 0
O&Fad 222 29 & 14,000,000 14,000
Al 7,000
Tl 7,000

FA4E s0tel N 10,000 10,000 0
| 4,000
Al HI 3,000
I 3,000

307 21201 A 10,000 10,000 0
| 4,000
AlHI 3,000
2 HI 3,000
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2N
X ZH -
L= B

el

EPARSE )

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Aot EAYE 239 & 23 605,434 603, 157 2,277
307 glz2tol & 120,000 100,000 20,000
05 RIZHRI &t 3 120,000 100,000 20,000
OA4d 22l & 29 120,000, 000 120,000
401 Al BIZ 201 8] 485,434 503, 157 A17,723
01 A& HI 485,434 503, 157 A17,723
OEX &€ 2= MW 485,434,000& 485,434
HEAESAANE X 30,000 0 30,000
405 THobH S| 30,000 0 30,000
01 AL =2 S FH S| 30,000 0 30,000
O ay EXdH HS 30,000, 000& 30,000
a4 gus otdol 29 145,500 0 145,500
= 72,750
AlHI 72,750
307 glz2tol & 145,500 0 145,500
= 72,750
AlHI 72,750
05 RIZHRI & 3 145,500 0 145,500
O&Aad Zu=ot3tdiol 29 145,500, 000 145,500
= 72,750
Al 72,750
HAEX S A B XX & 19,440 0 19,440
| 9,720
AlHI 9,720
307 21201 A 19,440 0 19,440
| 9,720
Al HI 9,720
05 RIZt2IEt = 19,440 0 19,440
OFALE XA BIEXIXI& 19,440,000 19,440
| 9,720
AlHI 9,720
st 8 #ad X 67,000 0 67,000
= 46,900
Al 20,100
307 21201 A 67,000 0 67,000
= 46,900
Al 20,100
05 BIZHRIE 3 67,000 0 67,000
o=t % 324 XA 67,000, 000& 67,000
= 46,900
AlHI 20,100
HE2IZH (S 24,160 24,160 0
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